Green Public Procurement M)
and Construction Sector: el
EPD and LCA Based Benchmarks

of the Whole-Building

Sara Ganassali, Monica Lavagna, Andrea Campioli
and Sergio Saporetti

Abstract The paper discusses the possible use of Life Cycle Assessment
(LCA) and Environmental Product Declarations (EPDs) in European and Italian
Green Public Procurement (GPP) for the building sector, in order to define targets
based on objective and reliable building environmental impacts information. The
research objective is to define how to set LCA benchmarks towards the improve-
ment of GPP requirements. The study analyses the GPP criteria based on LCA in
Europe with a focus on Italy; it proposes LCA benchmarks for selected groups of
construction materials and scenarios for the implementation of LCA benchmarks
related to buildings elements and whole-buildings. It also illustrates how public
administrations can verify the GPP criteria achievement using EPDs.

1 Introduction

Life Cycle Assessment (LCA) practice is increasing in the construction sector to
evaluate the environmental sustainability of buildings. Generally, the definition of
the better environmental profile between buildings providing a similar function is
performed through the simple comparison of the LCA impacts results. This
approach should be completed by objective LCA-based environmental benchmarks
(reference values) to be set, which can be used for setting sustainable construction
and production targets. Environmental LCA-based benchmark values are used in
several Green Building Rating Systems (GBRSs) and in buildings energy certifi-
cations. In these certifications (such as LEED, BREEAM, Verde, Green Star,

S. Ganassali (P<) - M. Lavagna - A. Campioli

Department of Architecture, Built Environment and Construction
Engineering, Politecnico di Milano, 20133 Milan, Italy

e-mail: sara.ganassali@polimi.it

S. Saporetti

Ministero dell’ambiente e della tutela del territorio e del mare,
Direzione clima ed energia, Divisione II certificazione ambientale
ed acquisti pubblici verdi, 00147 Rome, Italy

© The Author(s) 2018 503
E. Benetto et al. (eds.), Designing Sustainable Technologies,
Products and Policies, https://doi.org/10.1007/978-3-319-66981-6_56



504 S. Ganassali et al.

Minergie, etc.) the LCA benchmarks are not performed on a common basis,
inducing the consideration of different repositories for each, making the comparison
of different LCA-based benchmarks impossible for the building sector. The
benchmarks used in these certifications are often established from the statistical
analysis of LCA data obtained from a reference buildings sample with specific
environmental performances [I, 2], or from a reference building modelled
according to national standards and prescriptions [3-5].

Considering the lack of a common framework for setting environmental sus-
tainable targets for the construction sector, the present study aims at presenting a
new benchmarking approach, fixing LCA-based benchmark “code of practice” for
construction materials, building elements and whole-building. LCA benchmark
values can improve European and Italian Green Public Procurement (GPP) criteria
required for the construction sector, and it can also support stakeholders with
sustainable construction strategies and improvement of buildings environmental
performances. It could also support the GPP verification process made by public
administrations.

The study is divided into four sections. First, the use of LCA in the GPP for
buildings is examined, illustrating which EU Members have already included LCA
approach and consideration of Environmental Product Declarations (EPDs) in the
national GPP. Second, the benchmarking methodology and the environmental
benchmarks related to building materials are illustrated, as well as the proposed
EPD-based verification process for the contracting authorities. Finally, the approach
used to set LCA-based environmental benchmarks for building elements and
whole-buildings 1s explained.

2 LCA Data, EPDs and GPP in Europe

This section investigate the possibility to introduce LCA in GPP criteria for the
construction sector, through the analysis of GPP requirements from the EU
Commission. The EU Nations are encouraged to draw up National Action Plans
(NAPs) for reducing environmental impacts from public tenders managed by
contracting authorities and the associated procurements of goods, services and
works. GPP criteria for buildings are often developed in NAPs, including envi-
ronmental design and planning strategies in the national political framework. GPP
is a voluntary instrument, aiming at stimulate the market demand for more sus-
tainable goods and services. LCA-based criteria are required in the optional
EU-GPP for “Office Building Design, Construction and Management” [6],
including the environmental evaluation of impacts during all the stages of the
buildings life cycle (production of materials and elements, construction, use stage
and end of life), promoting the application of a cradle-to-grave LCA. In GPP
requirements for buildings, the promotion of energy efficiency and the use of
products with a specific percentage of recycled content material are also integrated.
There is only one LCA-based indicator required in GPP for new office buildings



Green Public Procurement and Construction Sector: EPD and LCA ... 505

which is the total amount of Global Warming Potential (GWP) for the building
whole-life. It can be partly calculated by practitioners through the aggregation of
EPDs results for the main building elements (foundations and substructures,
structural frame, external walls, floors and ceilings, internal walls, windows and
roofs), and/or based on a complete cradle-to-grave LCA. The LCA and use of EPDs
provide a quantitative assessment of the building environmental performances,
however, the comparability between two options remains sensitive even if the EPDs
are compliant with the related existing standards and Product Category Rule (PCR).

The use of GPP for buildings in European Nations has been investigated
(Table 1), analysing the use of the LCA approach in GPP criteria and the related
use of EPDs for the LCA in order to understand how the environmental products
labels are used by contracting authorities to verify the GPP criteria achievement.

For each EU member State, Table 1 shows the presence of National Action
Plans (NAP), the adoption of GPP for buildings, the use of the Life Cycle
Assessment (LCA) and the use of Environmental Product Declarations (EPDs).

Table 1 shows a restricted view of the use of LCA and EPDs in GPP for
buildings, however the information found is useful in order to understand how some
EU Nations insert environmental criteria in public procurement. Belgium inserts
LCA in GPP-Office Buildings criteria using the GBRSs (i.e. LEED and BREEAM)
which just involve the life cycle approach in their criteria; Denmark suggests the
use of LCA and EPDs for an environmental products comparison; Lithuania
introduces the LCA and the Life Cycle Costing as mandatory analysis;
Luxembourg introduces voluntary LCA criteria; The Netherlands requires manda-
tory LCA analysis for groundworks, roads and hydraulic engineering constructions.

The study focused on the Italian GPP requirements for building products, in
order to develop propositions for improving environmental sustainability criteria.
The new Italian procurement code (Codice degli Appalti) requires compulsory
environmental criteria (Criteri Ambientali Minimi—~CAMs) to enhance the sus-
tainability process of construction products, of new public and refurbished build-
ings and of public construction sites management [7]. CAMs criteria are set on three
design reference steps: the sustainable site analysis, in which the considered
building is located; the buildings technical specifications, which include dynamic
energetic simulations, the use of new energy supplies, indoor air quality and
comfort and the materials technical specifications, which set the recycled content
value for specific material categories.

The CAMs criteria related to the environmental sustainability of building
products, do not include LCA. CAMs set mandatory recycled content percentage
value for different material categories (i.e. the concrete must contain at least 5% of
recycled content on the product’s weight, as well as bricks and gypsum plaster-
boards). The contracting authorities can check the latter criteria achievement with
the use of materials environmental performances issued from environmental/energy
building certifications (i.e. LEED, BREEAM, etc.) and/or construction products
environmental labels (labels type I, II and III). However, the use of EPDs in CAMs
is underestimated, despite for the first time the use of EPDs is incentivised.



506

Table 1 Analysis of GPP-LCA criteria application for buildings in European Nations

S. Ganassali et al.

Nations National GPP Life Cycle EPDs

Action Plans Buildings Assessment

Provided by “National GPP Collected Collected

Action Plans (policies and through the through the

guidelines)”, EU Commission, national GPP national GPP

DG Environment (updated to website website

May 2017)
Austria ° ° o o
Belgium ) ° ° °
Bulgaria ° o n.a. n.a.
Croatia ° ° o o
Cyprus ° n.a. n.a. n.a.
Czech ° n.a. n.a. n.a.
Republic
Denmark ° ° ° °
Estonia o o n.a. n.a.
Finland ° ° o °
France ) ° n.a. n.a.
Germany . . ) o
Greece o o n.a. n.a.
Hungary o o n.a. n.a.
Ireland ° u.d. n.a. n.a.
Italy ° ° o °
Latvia ° n.a. n.a. n.a.
Lithuania ° ° ° o
Luxembourg o ) ° o
Malta ° ° n.a. n.a.
The ° ° ° o
Netherlands
Poland ° o n.a. n.a.
Portugal ° u.d. n.a. n.a.
Romania o o n.a. n.a.
Slovakia ° u.d. n.a. n.a.
Slovenia ° ° n.a. n.a.
Spain ° ° n.a. n.a.
Sweden ° ° n.a. n.a.
Norway ° . o o
Swiss ° n.a n.a. n.a.
UK ° ° n.a. n.a.
Legend

Black circle: present topic
White circle: not present topic
n.a. information not available
u.d. topic under development



Green Public Procurement and Construction Sector: EPD and LCA ... 507

Therefore it induced the promotion of EPDs on the market: the manufacturers
are encouraged to certify their products in order to compete in public tenders, while
the practitioners are stimulated toward environmental strategies choosing certified
products. Increasing the use of EPDs in the construction sector could lead to a
growth of available transparent LCA data on market and to a possible introduction
of LCA benchmarks in CAMSs criteria. Moreover, with the LCA benchmarks
insertion in CAMs, the EPDs could become simple verification instruments for
public administrations.

3 LCA Benchmarks for Construction Products

This section aims at demonstrating how LCA-based benchmark values for con-
struction products can be defined, and how could EPDs be integrated into CAMs
criteria in order to facilitate the verification process by the public administrations in
charge of analysing different options.

The benchmark values for construction materials developed in this study are
fixed for different LCA impact categories and they could be integrated in GPP
criteria, in order to set environmental sustainable levels for building products. The
benchmarking methodology has been developed after a detailed literature review of
five recent studies in which existing environmental benchmarks practices in the
construction sector have been applied. The benchmarking methods were all based
on the statistical analysis and interpretation of LCA data. In the analysed
case-studies, LCA-based benchmarks were related to healthcare buildings in
Portugal [8], for school buildings in South Korea [9] and for residential buildings in
Italy [12], France [11] and Germany. In order to set LCA-based benchmarks for
construction products, a reference sample composed by eight construction product
categories was processed, categories are also contained in CAMs criteria (cement,
bricks, wood-based materials, steel, gypsum plasterboards, glass wool panels, stone
wool panels and ceramic tiles). The sample was made by building materials
manufactured and sold in Europe in recent times (after the year of 2010) and it was
considered representative of the European production/construction practices. The
related LCA data were collected through EPDs, reporting transparent environmental
impacts results for each product life cycle phase. The LCA system boundaries
considered in this study are the one related to the product stage (LCA modules Al,
A2 A3). Thirty-two EPDs were analysed for cement, eight for bricks, eleven for
wooden-based materials, forty-five for steel, thirty-one for gypsum plasterboard,
fifty for glass-wool panels, fifteen for stone-wool panels and twenty-five for cera-
mic tiles.

The EPDs collected were taken from European EPD Program Operators:
BAU EPD (Austria), IBU (Germany), International EPD® System (Sweden),
GlobalEPD (Spain), EPD Denmark (Denmark), DAPHabitat System (Portugal),
FDES INIES (France), EPD Italy (Italy) and EPDNorge (Norway). In order to
guarantee the comparability and the homogeneity between LCA data from different



508 S. Ganassali et al.

national repositories, it was checked that the EPDs were compliant with the
European standard EN 15804:2012 “Sustainability of construction works”, and that
they have mutual recognition between the Product Category Rules (PCRs).

Ten environmental impacts categories were considered: GWP, Ozone Depletion
Potential (ODP), Acidification Potential (AP), Eutrophication Potential (EP),
Photochemical Ozone Creation (POCP), Abiotic Depletion Potential for Non-fossil
resources (ADNP), Abiotic Depletion Potential for fossil resources (ADPO), Total
use of Renewable Primary Energy resources (PERT), Total use of Non-Renewable
Primary Energy resources (PENRT), and the consumption of Fresh Water (FW).
The method applied to set LCA-based benchmarks was a statistical analysis and
interpretation of LCA data collected. It allows verification of wrong data (the
outliers) and the assessment of the reliability of final results. For each material
category and for each environmental impact category, three benchmark values have
been set up: the limit value, the reference value and target value. The reference
value represents the median value, which is not sensitive to the outliers in a sample
composed of a small number of data. The target and the limit value are set using the
quartile division of LCA data: the target value is fixed by the 1° quartile, which
indicates a value of 25% lower than the median value (it represents the best
manufacturing practice); the limit value is fixed by the 3° quartile, which represents
a value of 25% higher than the median value (the lowest acceptable value in the
evaluation scale).

In Table 2, the benchmarks fix the limit, the reference and the target values of
GWP, AP, PENRT and FW.

In Table 2, the negative GWP value observed for wooden products is due to the
CO; stored in the products, which is released into the atmosphere at the end of use
stage. The LCA benchmarks presented in the study are European benchmark val-
ues, the LCA benchmarks could be divided and analysed per country, extrapolating
single threshold values for each Nation (Fig. 1).

The three LCA-based benchmarks (limit, reference and target values) fix a
sustainable range of values for each material group, so the public administration
could decide which is the better sustainable level to apply in the public tender
requirements. They can then check the GPP criteria achievement, verifying if the
LCA data of specific building products (certified with EPD labels) fall into the
LCA-based benchmark range.

The LCA benchmarks are based on a limited number of data due to the lack of
EPDs and LCA-based data available on the market, despite the number of infor-
mation published is increasing.



Green Public Procurement and Construction Sector: EPD and LCA ... 509

Table 2 LCA-based benchmarks related to 1 kg of eight construction materials

Materials ‘ Limit value Reference value Target value

GWP (kg CO; eq)

Brick 2.63E-01 2.56E-01 2.18E-01
Cement 8.49E—-01 7.52E-01 6.48E—-01
Ceramic 4.89E-01 3.56E—01 3.25E-01
Plasterboard 2.59E-01 2.22E—01 2.12E—01
Glass wool 1.12E+00 1.08E+00 1.06E+00
Stone wool 1.22E+00 1.19E+00 8.86E—01
Steel 1.24E+00 5.46E-01 5.11E-01
Wood fibreboard —9.81E—01 —1.20E+00 —1.22E+00
AP (kg SO, eq)

Brick 7.32E-04 6.41E-04 5.51E-04
Ceramic 1.81E-03 1.23E-03 7.85E-04
Cement 1.37E-03 1.30E-03 9.98E—-04
Plasterboard 6.53E-04 5.03E-04 3.40E—-04
Glass wool 8.41E-03 6.31E-03 6.20E—03
Stone wool 1.11E-02 6.73E—-03 5.35E-03
Steel 3.18E—03 2.59E-03 1.10E-03
Wood fibreboard 2.10E-03 1.70E-03 1.64E-03
PENRT (MJ)

Brick 3.53E+00 3.39E+00 2.88E+00
Ceramic 4.96E+00 3.40E+00 2.52E+00
Cement 9.08E+00 7.32E+00 6.77E+00
Plasterboard 4.72E+00 4.09E+00 3.23E+00
Glass wool 3.22E+01 3.13E+01 3.02E+01
Stone wool 1.85E+01 1.71E+01 1.24E+01
Steel 1.50E+01 8.75E+00 8.71E+00
Wood fibreboard 1.09E+01 7.87E+00 6.73E+00
FW (m?)

Brick 8.52E—04 6.59E-04 3.66E—04
Ceramic 1.80E-01 1.68E—-03 1.06E-03
Cement 3.47E-03 3.16E—03 2.28E-03
Plasterboard 1.33E-03 1.00E-03 8.55E—04
Glass wool 1.82E—02 1.79E-02 1.35E-02
Stone wool 4.42E-03 4.16E-03 3.48E—03
Steel 4.00E-02 3.21E-03 2.62E-03
Wood fibreboard 1.13E-02 3.83E-03 2.32E-03




510 S. Ganassali et al.

keCO eq
3.0
________ L
2.5
R
m 111 )
L
............................................................ -l - . R
T
=5
Austria BelgiumFinland France Norway Spain Sweden

Glass-wool EPDs sample

Fig. 1 European GWP benchmarks (black lines) and Spain GWP benchmarks (grey bars) related
to 1 kg of glass-wool panel (LCA phases A1-3). Legend limit value (L), reference value (R), target
value (T)

4 LCA Benchmarks for Building Elements
and Whole-Building

The LCA-based benchmarks could also be applied to the main building elements
and the whole-buildings in the GPP for buildings and in the CAMs criteria.

LCA benchmark values for the main building elements are already used in the
construction sector [13]. According to the main studies analysed from the literature
review [8—12], this study tried to define a benchmarking methodology to set
environmental LCA-based benchmarks for building elements, explaining the pos-
sible methodological processes. The building elements categories to be considered
should refer to construction technologies and practices commonly used, in this
work four categories were considered: structure frame, floors, roof, external walls
and internal walls. The related LCA-benchmarks should be set at least for five
different generic building types, which are based on the classification often used in
the main GBRSs: commercial buildings, educational buildings, healthcare build-
ings, residential buildings and retail. The elements analysed should be related to a
specific context, recent (after 2010), in order to analyse the construction practices
employed in average in the country of concern. According to the national energy
parameters, prescriptions and construction practices, a range of similar constructing
solutions it is modelled for each building element identified. The data collection for
the building elements could be carried out using national databases, where build-
ings can be selected based on energy and environmental certifications [9, 10],



Green Public Procurement and Construction Sector: EPD and LCA ... 511

or through the screening of the calls for tenders [11]. As for materials the LCA data
related to each building element should be processed through statistical analysis and
interpretation, in order to establish the reference value [10]. The reference study
period should be based on 100 years and the LCA system boundaries should be
cradle-to-grave. The environmental impacts should be normalised to 1 m? of the
building element, in order to allow comparison of building elements.

The benchmarking methods could be applied to set LCA benchmarks for
whole-buildings. LCA-based benchmarks for the whole-buildings could be fixed
through the statistical analysis of the LCA data related to a specific built envi-
ronment [1, 2, 5] or modelling a reference building starting from national con-
struction standards and prescriptions. The buildings sample should be composed by
buildings realised after the year of 2010 and they should belong to a specific
construction context, according to the national energy standards and the current
construction practices. The buildings analysed should refer to the main five different
generic buildings types: commercial buildings, educational buildings, healthcare
buildings, residential buildings and retail. The LCA benchmarks should refer to the
single building function, avoiding issues linked to building operational energy use
and occupations (i.e. the educational buildings have different energy consumption
than an office building related to the worktime and equipment use) [14]. The
building typologies related to the functions can be divided into building archetypes,
according to the specific built environment characteristics (i.e. the residential
building could be divided into single-family house, terraced house, multi-family
house and apartment block). A reference building should be modelled for each
building archetype and each building function, fixing the reference service life
(equal to 100 years) and the functional unit (1 m? of gross floor area), in order to
compare the building environmental performances. The LCA system boundaries for
the whole-building benchmark should be cradle-to-grave. Based on a statistical
analysis, the median value should be set as the reference LCA benchmark for the
whole-buildings [8—12]. As an example the Swedish developer and construction
company Folkhem have certified a wooden residential house with the Swedish
Program Operator “The International EPD® System™: the EPD assesses the life
cycle of a Folkhem’s concept building, providing objective and reliable information
on the environmental impacts of the whole-building. The use of EPDs, as well as
the Folkhem’s EPD, could be an easy tool for contracting authorities, in order to
verify the GPP criteria achievement and to permit an appropriate check of the
procurement contract executions.

5 Conclusions

The study proposes a simple benchmarking to set LCA-based benchmarks,
incentivising the use of environmental performances values in GPP criteria, in order
to facilitate the verification activities of public administrations. In this study, LCA
benchmarks for construction products were fixed and an approach to fix building



512 S. Ganassali et al.

elements and whole-building benchmarks is articulated. The inclusion of LCA
benchmark values in GPP criteria for buildings can stimulate the use and the
production of EPDs for the construction market, making available transparent LCA
data and facilitating the integration of LCA in the GPP criteria. The EPDs could
also be an instrument to verify the GPP criteria achievement by contracting
authorities.

The use of LCA-based benchmarks could also be a way to stimulate the building
market to reach new environmental sustainability targets.

References

1. Garnett N, Pickrell S, Benchmarking for construction: theory and practice, Construction
Management and Economics, 2000, Vol 18, pp. 55-63.

2. Haapio A, Viitaniemi P, A critical review of building environmental assessment tools,
Environmental Impact Assessment Review, Vol. 28, 2008, pp. 469-482.

3. Eberl S, DGNB vs. LEED: A comparative analysis, Conference on Central Europe towards
Sustainable Building, 2010.

4. Collinge W.O, Thiel C.L, Campion N.A, Al-Ghamdi S.G, Woloschin C.L, Soratana K,
Bilec M.M, Integrating Life Cycle Assessment with Green Building and Product Rating
Systems: North American Perspective, Procedia Engineering, Vol. 118, 2015, pp. 662—-669.

5. Ganassali S, Lavagna M, Campioli A, LCA benchmarks in buildings environmental
certification systems, 41st TAHS World Congress “Sustainability and Innovation for the
Future”, Portugal, 2016.

6. Dodd N, Garbarino E, Gama Caldas M, Green Public Procurement Criteria for Office
Building Design, Construction and Management. Procurement practice guidance document,
EUR 28006 EN, 2016.

7. Allegato 1 del G.U. n.16 del 21 Gennaio 2016, Criteri ambientali minimi per I’affidamento di
servizi di progettazione e lavori per la nuova costruzione, ristrutturazione e manutenzione di
edifici pubblici, Ministero dell’ Ambiente, del Territorio e del Mare, 2016.

8. Castro M.d.F, Mateus R, Serodio F, Braganca L, Development of benchmarks for operating
ad resources consumption to be used in healthcare building sustainability assessment
methods, Sustainability, Vol. 7, 2015, pp. 13222-13248.

9. Ji C, Hong T, Jeong J, Kim J, Lee M, Jeong K., Establishing environmental benchmarks to
determine the environmental performance of elementary school buildings using LCA. Energy
and Buildings, Vol. 127, 2016, pp. 818-829.

10. Koning H, De Cristofaro M., Benchmarks for Life Cycle Costs and Life Cycle Assessment
benchmarks of residential buildings. Building Research & Information, Vol. 40, No. 5, 2012,
pp. 558-580.

11. Lasvaux S, Lebert A, Achim F, Grannec F, Hoxha E, Nibel S, Chevalier J, Towards guidance
values for the environmental performance of buildings: application to the statistical analysis of
40 low-energy single family houses’ LCA in France, The International Journal of Life Cycle
Assessment, Vol. 22, No. 5, 2016, pp. 657-674.

12. Moschetti R, Mazzarella L, Nord N, An overall methodology to define reference values for
building sustainability parameters, Energy and Buildings, Vol. 88, 2015, pp. 413-427.

13. Anderson J, Shiers D, Green guide to specification, John Wiley & Sons, 2016.

14. Hong S, Paterson G, Burman E, Steadman P, Mumovic D, A comparative study of
benchmarking approaches for non-domestic buildings: Part 1—top-down approach,
International Journal of Sustainable Built Environment, Vol. 2, 2013, pp. 119-130.



Green Public Procurement and Construction Sector: EPD and LCA ... 513

Open Access This chapter is licensed under the terms of the Creative Commons Attribution 4.0
International License (http://creativecommons.org/licenses/by/4.0/), which permits use, sharing,
adaptation, distribution and reproduction in any medium or format, as long as you give appropriate
credit to the original author(s) and the source, provide a link to the Creative Commons license and
indicate if changes were made.

The images or other third party material in this chapter are included in the chapter’s Creative
Commons license, unless indicated otherwise in a credit line to the material. If material is not
included in the chapter’s Creative Commons license and your intended use is not permitted by
statutory regulation or exceeds the permitted use, you will need to obtain permission directly from
the copyright holder.



